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(i) FEIFHATATIZTAE
(ii) @I AR § | 9% T & qHET 37 3l [HTTTE |
(ili) FTYFT-ITH2 3B 3 5 J9, 3 371 & 5 Fo7 TUT5 3B & 3 o7& |
(iv) 2 371 aTel F97 TG -3F0T F97 & 79T 579 I 30-50 V5] 4 forw /|
(v) 3 3H] TS FIT TGY-ITIT T & 7T 373 I 50-80 V51 4 77 /|
(vi) & 37! d1ct F97 e ITIT 97 8 797 57 IR 80-120 Vgl 4 Forw |
(vii) FeT-77 4 fdt o FHR HT GHY [dheT 787 & | FTel, F& o 8 TR [ 17
T & | GOt 37 991 7 & ST Uk Y9 HT & IHE /
(viii) 39 5o7-97 H e/ qld JTERT 597 41 & |

1. Tocsti & ure arem 31T %9 KIS Yo AT § ? 2
reran

gfaenfd 37 (Retained Earnings) =T 372f ¢ |

2. Trafafaa arfere & smem w, fog g e & s e :

A X HS ) 0 50 | 100 | 150 | 200
s R U H) —20 |-10 0 | 30 | 60
(a) ¥ 150 HUS % T TR TR WA = Wt (MPS) i 01 e |
(b)  TTIA IULHT HT T He BT 2

YA

Th SUAET H 3T | hg T 75% ITHRT R = foha1 ST 2 | Feiwr 1§ ¥ 1,000 U

TR
& TS AT % TR O 317 1 ot Al 1 0T HY |
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General Instructions :
() This question paper contains 13 questions.

(it)  All questions are compulsory. Marks are indicated against each
question.

(ii1)  This question paper contains § questions of 2 marks each, § questions of
3 marks each and 3 questions of § marks each.

(iv) 2 marks questions are Short Answer Type questions and are to be
answered in 30 — 50 words.

(v) 3 marks questions are also Short Answer Type questions and are to be
answered in 50 — 80 words.

(vt) 5 marks questions are Long Answer Type questions and are to be
answered in 80 — 120 words.

(vit) There is no overall choice in the question paper. However, internal
choice has been prouvided in few questions. The candidates need to
attempt only one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1.  When does Net Factor Income from Abroad (NFIA) shows Negative Value ? 2
OR

State the meaning of retained earning.

2. On the basis of following schedule, answer the given questions :

Income (in T crores) 0 50 100 150 | 200
Savings (in ¥ crores) |—20 | —10 0 30 60
(a) Calculate Marginal Propensity to Save (MPS) at ¥ 150 crores level of
income.

(b) What is the value of Autonomous Consumption ?
OR

In an economy 75 percent of the increase in income is spent on
consumption. Investment increased by ¥ 1,000 crore.

Calculate the total increase in income on the basis of given information. 2
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3. ‘orefeeEen U ITfU-AM (excess demand) USHTR & 31fereh TR I Hidl & " 9
TSRO G fEU TTT e T Awel Srera e i | 2

4. “qRa o, AT &1 K o H wrgdt forart | wfgersti St wrfieRl g A ' 17 99 qehi
BRI SATEAT H | 2

YA

“ TR Tte fopet Ty o srRies Tt H wewer w9 @ FieE <t @ 17 o 31 few g
HYU Y TEHA & 7 AT h |

5. “aftdgd & TSI FEAT Sl TedTiad i ¥ Fadd [Ihd i agran firet wehar 8 | 71
qohi g AT Y | 2

6. U HRU Gigd T 6 THT 317 St T0ET L THF FAfafaa & @1 Hen saaEr
IERISIPUIE

(a) U HY GRI TIIE il T YTAH 1%
(b) 9RA T faesft wieehi grT ag3ti 1 3 1%
reran
frefafed = % W @ Thd W 3ATg fewiet (GDP Deflator) @t TUFT &
feroeryor & 3
EL| 2014-15 |2016-17
Hifgw GDP 6.5 9
ardfas GDP 6.5 7.2

7. SRR o, 9 @Te o TR Tadq foeh o 32wl Bl UTH S H g B Hehdll 7 | 3
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3. ‘Excess demand creates greater opportunities of employment in the

economy. Defend or refute the given statement with valid explanation. 2
4. “In India women participation rate is lower in urban areas than in the
rural areas.” Explain with valid arguments. 2
OR

“Infrastructure contributes directly to the economic development of a

country.” Do you agree with the given statement ? Explain.

5. ‘Stimulating public mode of transportation may lead to promote

sustainable development’. Explain with valid arguments. 2

6. Giving valid reasons, explain how the following would be treated while

estimating National income :

(a) Payment of indirect taxes by a firm. 1%
(b) Purchase of goods by foregin tourists. 1%
OR

Using the following information, calculate and analyse the value of Gross

Domestic Product (GDP) deflator : 3
Year 2014-15 |2016-17
Nominal GDP 6.5 9
Real GDP 6.5 7.2

7. Explain how Bio-composting can be helpful in achieving the objectives of

sustainable development. 3
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8.  ‘Uecid Bias NI o THer il THEaTl <) Gfarg <mean &t | 3

9. YRd 9 HH 6 a1fier SEE gfg i ger 9 fawervo | 3
W e StEE afg (2015)
I 1.2%
< 0.5%

10. afe foreft arefeaawen # d% @ § gfg Bl 7, T T8 /0 H1 TAT I K TwIiad Haft 2
ST H | 3

11. (a) () T=fafad stisel % YR W, |6 A0 T IE Jed 916 (NVAL) H

TUHT Y 3
wHH = it }) W d
e
@ 3JcITE ST I §hTS oo (%) 20
(ii) 3edTe 1 Tershl (3Tl 1) 1250 (3ehTea)
(ii1) 341G Yook 5,000
(iv) TTAY St ST 3T 1,000
v) wish ¥ uftEda (=) 500
(vi) Tehel UM IATEh T 6,000
(i)  fom T3 9 geHad awqan # favig w3 Y STTavEhdT F= Bl 2 ? 2
rera
(b) (@) 3T ITTE GRI, SRIATSAT HT TN 3T HETH AT H | 3
Gi) Trafa Toew & wme srg w3 1 e 7€ R | feu T sy % www
Y H | 2
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8.  Explain briefly the problems faced by Great leap forward campaign. 3

9. Compare and analyse the Annual Growth rate of population of India and
China. 3

Country Annual Growth rate of population (2015)
India 1.2%
China 0.5%

10. Ifin an economy Bank rate is increased, how will it affect the demand for

credit ? Explain. 3
11. (a) (1) From the following data, calculate Net Value Added at Factor
Cost (NVA) : 3
S. No. Particulars Amount in (X Crores)
(1) Price per unit of output 20
(11) Output sold (units) 1250 units
(111) Excise duty 5,000
@iv) Consumption of fixed capital 1,000
V) Change in stock (=) 500
(vi) Single use producer goods 6,000

(i1) Why there is a need to make distinction between final and

intermediate goods ? 2
OR
(b) (1) Discuss briefly the concept of ‘Externalities’, with suitable
example. 3
(i) Export are not a part of ‘Net Factor Income from abroad’. 2

Elaborate the reason behind the given statement.
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12. foreht srefeawen § whifqeit gama o1 b @ # w3 fomgl o Hifgsh 3Tt &1
Ioolg I ST |

TN ST

freferiaa e w1 eagdes STerEA S qe srHifaRad J9H 9 13(a) 9 13(b) %
IQ |

5, T TeTEER T 9T AT et YRAE H SR e o foehE i Tieted
Ut | Tg AT 0T TR T J& I 1 TETaT <ot 3Tk forehre i 7ifer et |

TE Teehi, Il il e & wem @ B feuFT o o 9 qem S % fag
3111 TASIHAT (connectivity) ¥ TRie Tl § R i 3ufie B |

Tife wifts ASHT 2022-23 F51€ & g | 7, SN b ufa wruicass awy «rra ui" s
H TUrE Aol TEE o HEwd T T STefdl & |

Tl 2T ATSHT o A, (09 BIS FYh] IR FTHT] T A T TG o AT
%1 foehd hfl TTfh 3% I I ST T WIT 54 H Fgmar e 7 |

HId: ohIMITEGh EHE, BLat 2, 2022 (HMTerd)



12. State and discuss any two monetary tools to control inflationary pressures

in the economy. 5

CASE STUDY

Read the following text carefully and answer question number 13(a)

and 13 (b) given below :

The centre’s PM Gati Shakti Scheme will give much needed push to
infrastructure development and logistic across India. This scheme will
drive the economic growth by giving boost to industries such as steel and

cement.

Greater connectivity is expected to improve economic opportunities
for small farmers and small and medium enterprises through new roads,

cargo terminals etc.

The Gati Shakti Scheme features at the centre stage of Budget 2022-
23, highlighting the importance of quality multi-modal transport in

achieving overall cost competitiveness.

Under Gati Shakti Scheme, the railways will develop new products
and services targeted at small farmers and businesses to help them

become a part of layer supply chain.

Source : The Economic Times, Feb. 2, 2022 (Modified)
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13. (a) 3TN BT=HT 1 37 9qmd |
(b)  aHEE TR wfE AT 3 bl & 3eval %) ST HY |
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13.

(a) State the meaning of infrastructure.

(b) Explain any two objectives of PM Gati Shakti Scheme.
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